BORN TO
PERFORM

SER MANUAL

PIVOT



[

ASK
SUPPORT

Our experts are ready to assist you:
MotionSystems.eu/Support

SEARCH OUR
TUTORIALS

Everything you wish to know is here:
QubicSystem.com/Tutorials

SUPPORTED
GAMES

Racing games and professional simulation software:
QubicSystem.com/Supported-Games

DISCORD
YOU ASK, WE ANSWER

Join our discord server to ask questions:
QubicSystem.com/Discord


https://motionsystems.eu/support/
https://qubicsystem.com/tutorials/
https://qubicsystem.com/supported-games/
https://qubicsystem.com/discord

1. QS-PIVOT

QS-Pivot bar enables you to run a 2DoF setup - two linear actuator on the back or on
the front of the platform. It can be bolted to the bottom of the aluminum frame using
included hardware. The adjustment range is presented in section 1.4 on page 5.

QS-Pivot bar is an accessory purchased separately.

11. DIMENSIONS

Lo | T
ENED
I o
i T
43 38—
3x9
4 [
= =1
0
—p D | = @ORO | |
P OJ A Y
190

1.2. QS-PIVOT COMPONENTS
Included in the QS-Pivot box:

\,
1x
Set of mounting
Pivot bar plates
B ¥ T ®
4 X 2 X 4 x 6 X 6 X
Bolt M8 x 20 Bolt M8 x 20 Bolt M8 x 16 T-Slot nut M8  Washer A 8,4
(DIN 7991) (DIN 7991) (DIN 912) (DIN 125)




QS-220

1.3.  MOUNTING TO AN ALUMINUM PROFILE COCKPIT

Use all of the included hardware to mount the QS-Pivot bar according to the pictures.
QS-Pivot bar is to be installed to the underside of the aluminum profile. It can be in-
stalled either on the front or back of the cockpit - depending on your setup.

QS-Pivot bar can be moved closer to center of the rig to increase pitch movement but it
MUST be installed to a crossbeam to increase stiffness. If there is no crossbeam in the
preferred installation spot - it MUST be added.

1. Mount the installation plates to the QS-Pivot bar at a width that matches the cock-
pit. Mounting plates are not interchangeable because of countersunk holes - DIN
7991 bolts must sit flush inside them, when screwed in from the top.

Pivot bar mounting plates

Bolt M8 x 20
(DIN 7991)

Adjustment
countersunk
slots

topside view

2. Screw the QS-Pivot bar in under the cockpit using included bolts.

Bolt M8 x 16 | bottomside view|
(DIN 933)

T-slot nuts M8

Washer A 8,4 Bolt M8 x 16 p —=
(DIN 125) (DIN 912) y 7 at

Use small amount of medium strength thread locker on all bolts.




1.4. ADJUSTMENT DIMENSIONS

For adjustment dimensions refer to the illustration below:

Maximum width: 620

|L Minimum width: 546

|
(=

© ©
@%?@gi [53 ﬁé@%@/ o
©

Maximum adjustment: 599
Minimum adjustment: 490




EY ouBicsYSTEM




	QS-Pivot
	Dimensions
	QS-Pivot components
	Mounting to an aluminum profile cockpit
	Adjustment dimensions


